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. B.P.Ed. 4th Semester Examination, 2019
' RESEARCH AND STATISTICS IN

o PHYSICAL EDUCATION
‘ PAPER — CC-403
Full Marks : 70

|
' Time : 3 hours

|
| Answer all questions

' The figures in the right-hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

| lllustrate the answers wherever necessary

1. (a) Write a note on Research in your own
! language.
(b) Briefly explain about pure research.

(¢) Discuss the qualities of a good researcher.

3+5+7
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(2)

Or

(a) Explain the need and importance of Research
in Physical Education and Sports.

() Write down the two scopes of Research in
Physical Education and Sports.

(¢) What are the criteria in specifying a good
research problem ? 5+44+6

What do you mean by 'surveying related
literature' ? Explain the methods of collection
of data. 748

Or

(a) What do you understand by research
proposal ?

(b) Enlist the difference between project proposal
and project report.

(¢) Write the various contents of research
proposal. 3+6+6
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(3)

3 (a) What do you understand by statistics ?

(b) Explaln the importance of statlstlcs in the
field of physical education and sports. 5+ 10

' ‘ A—‘. '_ Or

(a) Explain in your own language the i nnportance
| of Graphical presentation.

(b) Prepare a frcquency curve by usmg the
following dlstrlbutlon

Class Interval Frequency

| 10-14 07
j 15-19 14
! 20-24 08
5 25-29 Y
J 30-34 04
| 35-39 15
|  40-44 06
‘ . 45-49 02 5410

|
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(4)

4. Answer any two from the following : 7% x2

(a) What do you understand by Central Tendency ?
Write down the advantages and disadvantages
of Mode. 2.;. +5

(b) Write a note on measure of variability. 7%

(¢) Compute Mean deviation by using the
following distribution : 7:21_

Class Intervai  Frequency

80-90 B
70-80
60-70
50-60
40-50
30-40
20-30
10-20

R = TR Y e IR IV

(d) Calculate P,,, P, and Py, using the score

of following data : 7%
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| (5)

Class Interval  Frequency

; 40-45 04
| 4550 07
| 50-55 08
. 55-60 12
| 60-65 - 03
| 65-70 10
| 70-75 06

5. Answer any fen questions : 1x10

' () A valuewhich is most repeated in a distribution
is —
(a) Mean
' (b) Median
| (¢) Mode
" (d) All of the above
| (ii) Which of the following is calculated by
' arranging the data according to ascending
f order ? ;
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(6)

(a) Median
(b) Range
(¢) Mean
(d) Mode
(iif) Which type of research is carried on to find
solution to a real-life problem ?
- (a) Pure research
(b) Applied research
(c) Diagnostic Study
(d) Exploratory rescarch
(iv) How to Calculate Range ?
(@) 2 x Highest Score
(&) Highest Score + Lowest Score
(c) Highest Score — Lowest Score

(d) Highest Score — Lowest' Score
5 > -

(v) Questioning attitude is related to—

(a) Problem seleeting
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- (7)

(b) Problem changing
(¢) Problem avoiding _

(d) None of the above

h F

(vi) The most reliable measures of -central
tendency is —
(@) Mean
(b) Median
(¢) Mode
(d) Standard Deviation

~ (vii) The average amount by which the quartiles
' differ from the median is represented

| by the

| (a) Range

.’I | (b) Inter-quartile range
(¢) Quartile deviation
(d) Mean deviation- |

(viii) The difference between the third quartile
‘! and first quartile are represented by

|
|
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(8)

{a)Range
(b) Inter-quartile range
(c) Quax_'tile deviation

" (d) Standard deviation

(ix) The formula 3 Median-2 Mean is used to
compute

(@) Arithmetic mean

(b) Weighted mean
' (¢) Median

(d) Mode

(x) Researchused for studying practical problems
and finding a solution to it is

(a) Basic research
(b) Applicd research

(c¢) Experimental research

(d} Evaluation research

| (xi) Which of the following is a quantitative
method of data collection :
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(9)

(a) Observation
(b) Correlation
(c¢) Interviews
| (d) None of the above

(xii) Which of the following is not an average ?
(a) Mean |
(b) Median
(¢) Mode
(d) Sﬁndwd Deviation
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